
  

APRIL 2021   60567/CYB4D 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer any TEN questions. 

1. What do you mean by Correlation? 

 JmkÓÄ £ØÔ } AÔÁx ¯õx? 

2. What is Scatter Diagramme? 

 ]uÓÀ Áøμ£h® GßÓõÀ GßÚ? 

3. Define — Regression. 

 öuõhº¦ ÷£õUS & Áøμ¯Ö.  

4. Write a short note on Extrapolation. 

 ö£õx¨£kzxuÀ £ØÔ ]Ö SÔ¨¦ GÊxP.  

5. State the merits of Semi-average method. 

 £Sv \μõ\› •øÓ°ß |ßø©PøÍ öu›Â. 

6. State the use of Binomial Expansion Method. 

 D¸Ö¨¦ Â›ÁõUP •øÓ°ß £¯ßPøÍ öu›Â.  

7. What do you mean by Simple Correlation? 

 GÎ¯ JmkÓÄ £ØÔ } AÔÁx ¯õx? 
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8. What do you mean by Algebraic method of 
Interpolation?  

 C¯ØPou •øÓ Cøha ö\¸PÀ GßÓõÀ GßÚ? 

9. Define - Index Numbers. 

 SÔ±mk GsPÒ & Áøμ¯Ö.  

10. What is Interpolation? 

 Cøhaö\¸PÒ GßÓõÀ GßÚ? 

11. Explain about price relative method in Index 
Numbers. 

 SÔ±mk Gs PnURmiÀ Âø» öuõhº¦ •øÓ £ØÔ 

_¸UP©õP ÂÍUSP.  

12. Define — Value Index. 

 ‘©v¨¦ SÔ±mk Gs’ & Áøμ¯Ö.  

PART B — (5 × 5 = 25 marks) 

Answer any FIVE questions. 

13. Calculate co-efficient of correlation from the 
following data. 

X 12 9 8 10 11 13 7

Y 14 8 6 9 11 12 3
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 ¤ßÁ¸® ¦ÒÎ ÂÁμ[PÎ¼¸¢x JmkÓÄU öPÊ 

PnUQkP.  

X 12 9 8 10 11 13 7

Y 14 8 6 9 11 12 3

14. Find the coefficient of correlation between x and y 
from the following data: 

X 5 10 5 11 12 4 3 2 7 1

Y 1 6 2 8 5 1 4 6 5 2

 ¤ßÁ¸® ¦ÒÎ Â£μ[PÎ¼¸¢x X ©ØÖ® Y US 

JmkÓÄU öPÊ Psk¤i.  

X 5 10 5 11 12 4 3 2 7 1

Y 1 6 2 8 5 1 4 6 5 2

15. What are the usefulness of regression Analysis? 

 öuõhº¦ ÷£õUS B´Âß £¯ßPÒ ¯õøÁ? 

16. The following table gives age (X) in years of cars 
and annual maintenance cost Y (in hundred 
rupees) 

X (years) 1 3 5 7 p 

Y 15 18 21 23 22

 Estimate the maintenance cost for a 4 year old car 
after finding the regression equation. 
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 ¤ßÁ¸® AmhÁøn°À PõºPÎß Á¯x (X) ©ØÖ® 

Á¸hõ¢vμ £μõ©›¨¦ ö\»øÁ (Y) ¡Ö ¹£õ´ 

Ai¨£øh°À öPõkUP¨£mkÒÍx.  

X (Á¸h®) 1 3 5 7 p 

Y 15 18 21 23 22

 |õßS BskPÒ £øÇ¯ Põº øÁzv¸UP BS® 

£μõ©›¨¦ ö\»øÁ öuõhº¦ ÷£õUS •øÓ¨£i 

©v¨¤kP.  

17. Calculate trend value from the following data 
using the method of Least Square. 

Year 1984 1985 1986 1987 1988 1989

Production 7 9 12 15 18 23 

 SøÓ¢ux \xμ •øÓø¯ £¯ß£kzv ¤ßÁ¸® ¦ÒÎ 

Â£μ[PÎ¼¸¢x ÷£õUS ©v¨ø£ PnUQkP.  

Á¸h® 1984 1985 1986 1987 1988 1989

EØ£zv 7 9 12 15 18 23 

18. Construct an index number 1991 taking 1990 as 
base:  

Commodity Price in 1990 Price in 1991

A 90 95 

B 40 60 

C 90 110 

D 30 35 

[P.T.O.]
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 1990® Bsøh Ai¨£øh¯õP öPõsk 1991® 

BsiØUS SÔ±mk Gsøn PnUQkP.  

uõo¯[PÒ 1990® Bsk  

Âø» 

1991® Bsk 

Âø» 

A 90 95 

B 40 60 

C 90 110 

D 30 35 

19. Using any method of interpolation, estimate the 

business done in April from the following data: 

Month January February March May June

Business 

done (‘000) 

150 235 365 525 780 

 ¤ßÁ¸® ¦ÒÎ Â£μ[PÎ¼¸¢x H¨μÀ ©õuzvÀ 

|øhö£ØÓ öuõÈÀ ©v¨ø£ Cøha ö\¸PÒ •øÓ 

£¯ß£kzv ©v¨¤kP.  

©õu® áÚÁ› ¤¨μÁ› ©õºa ÷© áúß

öuõÈÀ ©v¨¦ (‘000) 150 235 365 525 780 
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PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

20. Find Karl Pearson’s coefficient of correlation from 
the following data: 

Wages 100 101 102 102 100 99 97 98 96 95

Cost of 
living 

98 99 99 97 95 92 95 94 90 91

 ¤ßÁ¸® ¦ÒÎ Â£μ[PÎ¼¸¢x PõºÀ ¤¯º\Ûß 

JmkÓÄU öPÊøÁ Psk¤i.  

T¼ 100 101 102 102 100 99 97 98 96 95 

ÁõÌUøP 

 ö\»Ä 

98 99 99 97 95 92 95 94 90 91 

21. Calculate the two regression equations of X on Y 
and V on X from the data given bellow, taking 
deviations form actual means of X and Y. 

Price Rs 10 12 13 12 16 15

Amount Demanded 40 38 43 45 37 43

 X ß «x Y ©ØÖ® Yß «x X® öPõsk Cμsk 

öuõhº¦ ÷£õUS PnUQh ¤ßÁ¸® X ©ØÖ® Y 
÷ÁÖ£õkPøÍ GkzxU öPõÒP.   

Âø» ¹. 10 12 13 12 16 15

÷uøÁ°ß AÍÄ 40 38 43 45 37 43

 Âø» ¹. 20 GÚ C¸US® ÷£õx ÷uøÁ°ß AÍøÁ 

PnUQkP.  
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22. What do you mean by Time Series? Bring out its 
uses. 

 Põ»® \õº öuõhº Á›ø\ £ØÔ } AÔÁx ¯õx? Auß 

£¯ßPøÍ öÁÎUöPõnºP.  

23. Compute price index for the following data by 
applying weighted average of price relative 
method, using  

 (a) Arithmetic and  

 (b) Geometric mean. 
Item Price in 1991 

Rs 
Price in 1992 

Rs 
Quantity in 

1991  

Wheat 2.00 2.50 40 kg 

Sugar 3.00 3.25 20 kg 

Milk 1.50 1.75 10 lit 

 ¤ßÁ¸® ¦ÒÎ Â£μ[PøÍ öPõsk Gøh \μõ\› 

Âø» öuõhº¦ •øÓø¯ £¯ß£kzv Âø» SÔ±mk 

Gs PnUQh ¤ßÁ¸® •øÓø¯ £¯ß£kzuÄ®. 

 (A) Gs Pou®  

 (B) ÁiÂ¯À \μõ\›  

CÚõ® 1991® Bnk 

Âø» ¹. 

1992® Bsk

Âø» ¹. 

1991® Bnk

 AÍÄ 

÷Põxø© 2.00 2.50 40 kg 

\UPøμ 3.00 3.25 20 kg 

£õÀ 1.50 1.75 10 lit 
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24. Using Newton’s Backward formula find the 
annual premium at the age of 33 from the 
following data: 

Age in Years 24 28 32 36 40

Annual Premium  
in Rs. 

28.03 30.19 32.75 34.94 40

 {³mhß ¤ß÷|õUS® `zvμzøu £¯ß£kzv, 

¤ßÁ¸® ¦ÒÎ Â£μ[PøÍU öPõsk 33 Á¯x 

öPõshÁºPÎß Bsk •øÚ©zøu PnUQkP.  

Á¯x (BskPÒ) 24 28 32 36 40

Bsk •øÚ©® ¹. 28.03 30.19 32.75 34.94 40

——————— 


